Simplest Radical Form

Algebra

I. 's When a problem involves square roots, you may be asked to give the
answer in simplest radical form. Recall that the radicand is the expression
under the radical sign.

See Skills Bank
page S55

Simplest Form of a Square-Root Expression

An expression containing square roots is in simplest form when
e the radicand has no perfect square factors other than 1.
e the radicand has no fractions.

* there are no square roots in any denominator.

To simplify a radical expression, remember that the square root of a product is equal to the product
of the square roots. Also, the square root of a quotient is equal to the quotient of the square roots.
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Write each expression in simplest radical form.
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V216 216 has a perfect-square factor 6 There is a square LIS
V2 the denominator, so the

of 36, so the expression is not

. . expression is not in simplest
in simplest radical form. P P

radical form.

(36)(6)  Factor the radicand. 6 [V2 Mu/t{'pl)./ by a form of 1 to
eliminate the square root

V36 -\V/6  Product Property of Square Roots vzlvz in the denominator.
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Write each expression in simplest radical form.
1. V720 Ry 3. 10 4. 4/L 5. V45

16 NG 3

346 Chapter 5 Properties and Attributes of Triangles



